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$FDGHPLF 6XSSRUW

7UR\ 8QLYHUVLW\ RITHUV VWXGHQWY D YDULHW\ RI DFDGHPLF VXSSRUW
VHUYLFHV LQFOXGLQJ UHVRXUFHV WR DVVLVW VWXGHQWY LQ DUHDV VXFK DV
WHFKQRORJ\ FDUHHU SODQQLQJ VWXG\ VNLOOV DFDGHPLF SODQQLQJ DQG
WXWRULQJ LQ VHOHFWHG VXEMHFWY 6WXGHQWY DW WKH 7UR\ &DPSXV PD\
DOVR SDUWLFLSDAWDH 16QVXVKXUIHYLVRIUDP JHDUHG WR WKH
QHHGV RI VWXGHQWYV PDNLQJ WKH WUDQVLWLRQ WR FROOHJH IURP KLJK
VFKRRO-RIWKRFWRRO H[SHULHQFHYV

BWXGHQWY VKRXOG FRQWDFW WKH UHJLVWUDU RU DQ DFDGHPLF DGYLVHU
DW WKHLU FDPSXV ORFDWLRQV IRU PRUH LQIRUPDWLRQ DERXW DYDLODEOH
UHVRXUFHV
$OXPQL $VVRFLDWLRQ

7KH 7UR\ 8QLYHUVLW\ $OXRQIH $SXURSFR\DH L R QV R
HVWDEOLVK PXWXDOO\ EHQHILFLDO UHODWLRQV EHWZHHQ 7UR\ 8QLYHUVLW\
DQG LWV DOXPQL $OXPQL $IIDLUV FRRUGLQDWHYV WKH DFWLYLWLHV RI WKLV
DVVRFLDWLRQ SURPRWHV DOXPQL VHUYLFHV DQG HVWDEOLVKHV VFKRODU
VKLSV ,Q DGGLWLRQ $OXPQL $IIDLUV EURDGHQV FRPPXQLFDWLRQ EH
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(QGRZHG &KDLUV DQG 3URIHVVRUVKLSV

J)LYH HQGRZHG FKDLUV KDYH EHHQ HVWDEOLVKHG E\ WKH 7UR\ 8QL
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